
NOTE
Individually mounted SomatXR modules are vibration- and shock-proof according toMIL-STD-
202G. Beforemounting an accessory on a universal mounting bracket, make sure the accessory
will not exceed its maximum vibration and shock specifications (see accessory data sheets).

1-CASEMOUNT-UMB-2 contents

Part Number Description Quantity Graphic

SO-227-1001727 M5 18-8 SSPhillipsFlat Head Screw 32* A

1-CASELINK-RUG-
2

Fastener CASELINK-RUG (Four (4) caselinks (D) and sixteen (16) set screws (E) per
package)

1 D, E

SO-095-1002480 UniversalMounting Bracket 1 J

*16 screwsare included for installing this bracket in conjunction with the 1-CASEMOUNT2-2 or 1-CASEMOUNT3-2 kits.

1-CASEMOUNT-UMB-2

The Universal Mounting Bracket enables
a variety of SomatXR accessories to be
mounted for convenient use. These
accessories include GPS, UPS, Cameras,
Wireless Access Points and others.

– This bracket can be used in conjunction with the
1-CASEMOUNT2-2 or
1-CASEMOUNT3-2 kits

– All components in these kits are ROHS
compliant

– This universal mounting bracket supports a
variety of commercial products that may not
meet the vibration specs of the system. Care
needs to be taken to insure that themodule
specifications in the data sheet are not exceeded
when accessories are added to the stack.

D
at
a
sh
ee
t

B04587_02_E00_00 HBM: public



Device Part number Holes Screws
Graphic

Designation

Axis 1 Axis 211, AxisM1103,
AxisM1124, AxisM7001,
AxisM7011, AxisM7014,
AxisP1311, AxisP1357,
AxisP 1344, AxisP1346,
AxisQ1775, AxisP1214-E

3, tapped M4 screws CAM1

Axis 2 See above 3, tapped M4 screws CAM2

SierraWirelessAirlinkGX AirLinkGX450 4, tapped M4 screws GX

SierraWirelessPinPoint PinPoinit X or XT 4, tapped M4 screws PP

L-ComPoEPower injector
power supply

Included with
BT-CAT6P1HP-48W

4, tapped M4 screws PoES

L-ComPoEpower injector BT-CAT6P1HP-48W 4, tapped M4 screws PoEI

HBMUninterruptible Power
Supply

1-UPX002-2 4, tapped M4 18-8 SS, Socket Cap, 30mm
(SO-227-1002109, included with UPX)

UPX1

HBMUninterruptible Power
Supply

1-UPX002-2 4, tapped see above UPX2

HBMEGPS200 1-EGPS200-B-2 or
1-EGPS200-P-2

4, tapped M4 screws EGPS

ACKSYSwirelessaccess
point

ACKSYSWLg-xROAD/N
or WLg-xROAD/NP

2, tapped M4 screws ACKS1

ACKSYSwirelessaccess
point

ACKSYSWLg-xROAD/N
or WLg-xROAD/NP

2, tapped M4 screws ACKS2

HBM5HzGPS* 1-EGPS-5HZ-2 3, countersunk M3 flat screws10mm (maximum length to retain
tension)

GRMN1,

GRMN2 and

GRMN3

Moxawirelessaccesspoint* MOXAAWK-4121 4, countersunk M4 screws12mm (maximum length to retain
tension)

Moxa

* Install the device on the universalmounting bracket before the installing the bracket on a SomatXRmodule.

2 B04587_02_E00_00 HBM: public



Instructions (typical use case)
A universal mounting bracket can be used in conjunction with a 1- CASEMOUNT2-2 or 1-CASEMOUNT3-2
kit onmultiple SomatXR modules. Assemble a stack before applying serviceable (blue) threadlock to Phillips
head screws.

1. Apply serviceable (blue) threadlock to the four (4) M5 set screws (E) in each caselink (D). Use a 2.5
mmhexwrench to turn set screws back in the caselinks before installing the caselinks on amodule.

2. Insert two caselinks (D) in the slots on each end of the SomatXR module.
3. Tighten the set screws (E) in each caselink on themodule, using a 2.5mmhexwrench. Tighten the

screws to 3.6 N-m (32 in-lbs) torque.
4. Align the bracket (J) with the caselinks on themodule.
5. Connect the bracket (J) to the caselinks usingM5 flat screws (A), serviceable threadlock and a #2

Phillips screw driver. Apply serviceable threadlock and tighten each screw until secure using a #2
Phillips screw driver.

Optional equipment installation on the universal mounting bracket
Only oneMOXA AWK-4121, 1-EGPS200-B-2, 1-EGPS200-P-2 or SierraWireless PinPoint X or XT unit will
fit on the universal mounting bracket.
The following equipment may be installed on the universal mounting bracket:
1. SierraWireless AirLinkGX450 and 1-EGPS-5HZ-2 or Axis camera
2. ACKSYSWLg-xROAD/N or /NP and 1-UPX002-2 or 1-EGPS-5HZ-2 or Axis camera
3. Two (2) 1-UPX002-2 units
4. 1-UPX002-2 and ACKSYSWLg-xROAD/N or /NP or 1-EGPS-5HZ-2 or Axis camera
5. Axis camera and L-ComBT-CAT6P1HP-48W
6. L-ComBT-CAT6P1HP-48W and PoE Power injector power supply (Axis cameramounted

separately)

B04587_02_E00_00 HBM: public 3



measure and predict with confidence B
04
58
7_
02
_E

00
_0
0

S
O
-2
69
-1
00
46
63
_r
ev
01

H
B
M
:p
ub
lic

© HBM, Inc. All rights reserved. All details describe our products in general form only.
They are not to be understood as express warranty and do not constitute any liability whatsoever.

Americas: HBM, Inc. · 19 Bartlett Street · Marlboro · MA01752 · USA · Tel.: (800) 578 4260 · Email: info@usa.hbm.com

Asia: Hottinger BaldwinMeasurement (Suzhou) Co., Ltd. · 106 Heng Shan Road · Suzhou 215009 · Jiangsu · China
Free hotline: 4006217621 (only in China) · Tel.: +86 512 682 47776 · Email: hbmchina@hbm.com.cn

Europe: Hottinger BaldwinMesstechnikGmbH · Im Tiefen See 45 · 64293 Darmstadt · Germany
Tel.: +49 6151 803-0 · Email: info@hbm.com

Example of Accessory Mounting: Installing a UPX series Uninterruptible Power Supply
Each UPX kit includes four (4) SO-227-1002109 (M4) screws to install the uninterruptible power supply on a
mounting bracket.

1. Mount a UPX unit (H) on a universal mounting bracket using serviceable threadlock, four (4) M4
screws (C) and a 3mmhexwrench.

2. Apply serviceable (blue) threadlock and tighten the screws (C) to 1.8 N-m (16 in-lbs) torque or vibration
may loosen screws and damage bracket threads.

NOTE
Install other equipment on the universal mounting bracket using appropriate screws and serviceable
threadlock. Some equipment, such as 1-EGPS-5HZ-2 andMOXA AWK-4121, must be installed on the
bracket before the bracket is installed on a SomatXR module. Fully tighten the screws or vibrationmay
loosen screws and damage device threads.


	The Universal Mounting Bracket enables a variety of SomatXR accessories to be...

